
Roll No. ..........                                  Total Printed Page - 15

F - 160

M.A. ( FIRST SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

ECONOMICS
Paper Second

( Macro Economics - I )

[ Time : Three Hours ] [ Maximum Marks : 80 ]
[ Minimum Pass marks : 16]


Note : Attempt all sections as directed.



(Section-A)


Objective / Mulitple Choice Questions

mark each)



Attempt all questions.

:
Choose the correct answer:
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 

(A) 

(B) 

(C) (A)(B)

(D) 

What are the components of balance of payment ac-
count?

(A) Current Account

(B) Capital Account

(C) Both (A) and (B)

(D) None of above

 


(A) 

(B) 

(C) 

(D) 

Which one out of the following is also known as Reserve
Money or High Powered money or base money -

(A) M  (B) M 

(C) M  (D) M 
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 

(A) GNP = GDP +

(B) NNP = GNP +

(C) NNP = GNP -

(D) GNP = NNP -

What is the truth?

(A) GNP = GDP +Depreciation

(B) NNP = GNP +Depreciation

(C) NNP = GNP -Depreciation

(D) GNP = NNP -Depreciation

 GNPMP = ?

(A) GDPMP - 

(B) GDPMP +

(C) GNP +

(D) 

GNPMP = ?

(A) GDPMP -Depreciation

(B) GDPMP + Net Factor income from abroad

(C) GNP  + Subsidies

(D) None of these

P. T. O.
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 

(A) 

(B) 

(C) 

(D) 

Which of the following is included in the three sector
model.

(A) Family

(B) Firm

(C) Government

(D) All of the above

 

(A) 

(B) 

(C) 

(D) 

Which of the following is included in National Income?

(A) Rent, Wages, Interest

(B) Rent, Wages, Salary

(C) Rent, Profit, Interest

(D) Rent, Wages,Salary, Interest, Profit
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 

(A) 

(B) 

(C)  

(D) 

Included in the priority sector-

(A) Agriculture

(B) Retail Business

(C) Small Industry

(D) All of these

    

(A) 

(B) 

(C) 

(D)

Who will founded the Social Accounting method?

(A) Fisher

(B) Pigou

(C) Marshall

(D) Richard Stone

P. T. O.
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 

(A) 

(B) 

(C)  

(D) 

Appropriation Accounting is called?

(A) Consumption  Account

(B) Production Account

(C) Capital Account

(D) None of these

 

(A) 

(B)  

(C) 

(D) 

Classical theory of employment is related with-

(A) Adam Smith

(B) J.B. Say

(C) J.M. Keynes

(D) None of these
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  

(A)  

(B)  

(C)  

(D)  

Who was J.B.Say?

(A) American Economist

(B) British Economist

(C) German Economist

(D) French Economist

 

(A) 

(B)  

(C)  

(D) 

Keynes's Employment theory is -

(A) Short term

(B) Long term

(C) Very short term

(D) All Truth

P. T. O.
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 

(A) + 

(B) + 

(C) + 

(D) + 

Aggregate demand means -

(A) Investment demand + Saving demand

(B) Consumption demand + Government demand

(C) Investment demand + Consumption demand

(D) Consumption demand + Saving demand

 W = P × MPPL -

(A)  

(B)  

(C)  

(D)  

This equation expresses- W = P × MPPL -

(A) Demand Function

(B) Supply Function

(C) Wage Function

(D) Real Wage
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

(A) C / Y

(B) Y / C

(C) I / C

(D) C / I

The Formula for average propensity to consume is-

(A) C / Y

(B) Y / C

(C) I / C

(D) C / I

  MPS=0.5 (K) 

(A) 

(B) 

(C) 

(D) 

If MPS = 0.5 than the multiplier (K) is :

(A) 1/2

(B) 2

(C) 5

(D) Zero

P. T. O.
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17. MPC+MPS

(A) 

(B) 

(C) 

(D) >1

MPC+MPS is equals to:

(A) 0

(B) 1

(C) Infinity

(D) >1

18. 

(A) K

(B) K

(C) K = I - S

(D) 

Is the multiplier-

(A) K

(B) K

(C) K = I - S

(D) None of these
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19. 

(A) P T

(B) M V

(C) T V

(D) M

The Money Supply is in Fisher's Equation-

(A) P T

(B) M V

(C) T V

(D) M

20. 

(A) 

(B) 

(C) 

(D) 

Related to the Cambridge Ideology-

(A) Marshal

(B) Pigou

(C) Keynes

(D) All of the above

P. T. O.
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

(Section-B)



Very Short Answer Type Questions

marks each)



   Attempt any eight question in 2-3 sentences.

1. 

What do you mean by Investment Function?

. 

What is National Income?

. 

What is National Income Accounting?

.   

Clarify the meaning of Consumption Function.

.     

Define marginal effficiency of capital.

. 

What is Value of Money?
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. 

What is Multiplier?

. 

What do you understan by demand for money ?

. 

What is Propensity to consume?

. 

What is induced Investment?



(Section-C)



Short Answer Type Questions

marks each)



Attempt any eight questions in 75 words

.  

Compare the Fisher and Cambridge Equations.

. 

Distinguish between Accelerator and Multiplier.

P. T. O.
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. 

What are the Assumption of Classical Theory.

.  

Explain the Circular Flow in four sector Economy.

.  

Clarify the Components of National Income accounts.

. 

What is the say's Law of Market?

.         


Explain the Chief Characteristics of Keynnesian employ-
ment theory.

.  

Clarify the permanent income hypothesis.

. 

Explain the elements affecting Consumption Function.

. 

What is the Bamul's approach of demand for money.
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

(Section-D)



Long Answer Type Questions

marks each)



   Answer any four questions.

.  

Critically evaluate the Cash balance equation.

2.     

Critically exmine the accelerator principle.

  

Comment on James Tobin Approach of demand for
money.

 
  

Explain those problem and difficulties, which are associ-
ated with the measurement of National Income.

5.     

Discuss the Keynesian Employment Theory in detail.


